BT TR

FIRESHR T EN0RA\ABASHOFFMABTREYZ /. 28, bhbhidBta®
DEFITES>TOEIRZEDT L EHAS ENEC, LEBANOFEBERTIIHT 259
HOBAORRE. D TREENRLDE >/, BEDTF—TIIZDE, KD
HE2EOMIZL TWARSC - BBHFDRETIIENIIRBOIEESE o/ —
fZ. —“RICLTREHKEL.-, TL T, ACTFT—NTHEE>TWELERD
2. T80,
HbhbObNOMRIIANECDFNREETESE, TAUANIEFEBEREEDRNR
HDELELS FRIEEDRHEWEBFTRIBICENE LS TNSZ L&KL
LTW3, ES5TWESIZEBWDL Z EIJER,
EERZINZEANWTERL .
FIEFHERBOWVNERICOVWTRHZBEQHZRNH oz, 120, ERICETF
BEMSBREOXI NS ETICIE. PR EBHEILND EBATWE, Fhb,
TFAYART CICZOBERICHRI L E2H -0 RERTHH 7=,
BAERZICEET S bOEZRATE SR ES>2< RN, BENERL
BEOANEBHLE, WhRBEEED. BITPFERBIIIRITE TR I L
TERWEREBE o 7. EBDZ 2 —-AFRICE> TFNIEEELCHENSHD
ol TNRT AU EOKK ECOBEEMN,. ITICREMIEFELHDI L%
B TWE,
T AV EBERORZEERACEND D Z E3H > Tz, LML HEOHHS
BTAEBOTIIANWSEEs T, bhbhiREITHLLW I I T 72RO ANS
BhblTWiz, HBEE, BEINF- B2 OMEZFRANEI ENH B0,
ZFHULESE L 25, BoLBTREZME>TWEN, bhbh etz >®
ENVNSEFETII Moz,
IERWZRBAEE SN EMNTIRED T, BT AV IoIEANDNDI®
FRIZKLT, #BHBRIKREVWCEEE 2. PR EBARIIDIEITH- &
BIK[IIREEH,

B BER [0 20 AR Bk ) [ R BB
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1 The phrase 3-+ H here is a telescoping of 3 H, meaning ‘the next day’ and
+:H ‘the 7th’; it does not mean ‘the next 7th day’.

2 Note here the ~ T form carrying a strong sense of subordination.

3 HoEhic

This verb form is the passive of &1 59" ‘inform’, so ‘we were informed’. There are
not many verbs like 15§, but they are quite common and should be recognised
for what they are: they have a causative meaning and what looks at first sight to be a
causative form, but you will find them treated as independent verbs in dictionaries.
There also exists, of course, the verb 1% with a causative, 15 & % ‘cause to know’,
and a passive causative (see IM], 50.4), 1 58 541% ‘be caused to know’. You will
not be surprised to learn that, as in English, whenever possible, the preference is for

the simpler form, in this case &1 5 %. Remember the following verbs.

Plain Passive

7709 ‘send’ fihEh 3 ‘be sent’

BT ‘put to sleep’ N END ‘be put to sleep’
B4 9 ‘make ...listen’ R/nE N5 ‘be made to listen
B9 ‘make ...say’ EhHENS be made to say’

HENS LSBT OEEHMEThELE,
S o DIcBREEbEAN,

4  FEERERTICHTIHORAORE

~IZ%9° % has quite a fair range and can mean any of the following, depending on
context: ‘vis-a-vis’, ‘with regard to’, ‘as against’, “in contrast to’. You should learn
how to distinguish this pattern from the somewhat similar ~iZB89 %, which means
‘concerning’ and is much less confrontational.

BOTFIIHT 2 EBHITHSHREDOTH B EVNS DIEZ—BOMETIE
HDEBAD.
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HOREDZEIINT Z2REICIIEPBEENZLOND S,
(HREDEERVIFAMTTN LVBST7 27— M ZEREDOHITIX
NRDEBVWDDORH T,

OO KILTEENCET 2ERHINZD L EA>TWET,
HOEEDZEIETELR— MINDBENWINETESHEDNTNS,
BEMEICR> TS AXOEGEBICETIRDAREELODLLUTD
KDIRVET,

MIFICRE T 2 /NI DEVWARDBZHFES> TETHWEELENET,

In this last case both are possible but 3% imparts a much stronger sense of

involvement.

5 KOREBDRNITL TWERS

In IM], 23.4 you were introduced to 7Z&%%5 as marking two actions going on
simultaneously. 72485 has other uses. Used here after a ~T\Y% form, it means
something closer to ‘although’. The English ‘while” has a similar double use. It is not
simply that he lost his appetite while sitting at the table; he loses it despite the fact
that good food is there in front of him. This usage is largely restricted to stative

verbs or verbs in the stative ~ T35 form.

BONEN/END T EEDN 2 THAERNS, FREEDOR TR S
ZENHREM T,

HOLHR—NEFRATORNES, TORITKMNMhah- =01
IMDESTZELMENEIDVH D EH A,
BEOEEPHERTVWS &, HRICWZNS Za—3—27 TOHKREN
FlzEBEDIHN5,

6 IO58-k
The word Z 5 means ‘thus’, ‘so’, or ‘like this’. In the present context Z 5 E o /2
means ‘said thus’, but you will also find Z 5 in many other contexts. Study the

following examples:
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ZONIEXHbHDET K.

IO TREAD B LNERADN, BI—EFXEINLZGRANWOTH
b EFAD.

II3RH>TLESTIHMDALVEERHD FH AN,
ZHLTIRVWS NN, Xo2F L FREWICTI TN,
TORDHINDH I I ENEFABEAARITHEDNDATT K.
ZIHOLTHEREATWS E, FEHOBOIEDLINETHHIEIEL SN 5.

HdLLES

Refer to IM], 45.6, where we explained that & L 7z 5 is a little bit more elaborate
than just a simple ‘if: ‘if it was a case of’. The best way to understand the use of &L

7= 5 is to compare it with simple ~7= 5.

(@) WAREZSEEETX.

If he comes, he’ll be surprised.

(b) WhHKDELESEHEHTTITL,
If (we assume that) he comes, it'll be the day after tomorrow.

In (a) the second statement is a simple consequence of the first statement. In (b),

however, the second statement is not a simple direct consequence of the first

statement but rather follows from what has been expressed in the first statement. ‘If

one assumes X to be the case, then I think Y’. The second statement is a comment on

how or when the first statement might happen.

Study the following;:

RATEE R IRBMSERERN,
ROELELTA TR,

FLWOZHES 6N OIEREIC RT3 X,
FLWOZEDS LLAELESTLHOET VAL VI,

BBBRELZS, 255D TRASTHE 5D T,
H ULEEOHERME> TWiz& LS, ZHRERBEEMETTR,
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There is yet one more form that needs explaining in this context: 072> 7z 5. This
means ‘if it is a fact that X, then I think Y’, or ‘If it is the case that X, then Y’. Note
that the use of M7= objectifies the statement and so makes it highly unlikely that the
subject of the first phrase is ‘T’

PBEEHROAZ > SBER LRGN,
WAR D ATE - 72 S I BRI N,
HFLOWOEES OE>RSEOBREZMVWTLSDHRN DX,

8 BR%E
There are three Japanese words that are often translated as ‘develop’ or
‘development’: B 5§, # /&, and JEBA. Try and catch the difference between them

from the following examples.

BH%E refers to physical expansion or opening up and is essentially transitive in
nature; there is a strong feeling of someone actually developing (or even exploiting)
something.

3% also refers to expansion but it is essentially intransitive in nature; things

expand/develop. Both these words give a sense of movement outwards.

J&BH, in contrast, is intransitive but lacks a sense of expansion; something will

simply proceed to develop along a particular path.

RAKREOBERIIZ < DBEERWEIZDORNS,

BILEBEREE L VWO EEORDICEEZ EHEE WS FEMMEDNSLIKZ
2oz,

ATABBHCENT TREL T IZH-> T, RBHEIZVDESRBE—FHT.
HEVICHTFEATYEORBEICALIZEL OO TICEE ZRT> Tk,

9 Eok<REn
Note here that the verb suddenly shifts to imperfective at this point, only to return to

perfective in the next sentence. The effect of this is rather difficult to replicate in
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English. It gives this particular sentence prominence and suggests that it might well

represent the author’s direct speech.

10 HFEIERLES

This is another example of the use of an essentially classical phrase in modern
written Japanese. It can be described as a ‘literary’ potential form, with the
conjunctive of the verb, in this case 9 %, + the verb 13()%. The negative form is

‘conjunctive form + (A )% or (R )RV,

BITHAA PR L BB HF TR,

RAOTIMRLBHOBELE NS ZERBNF L LA o TWBIRTEN.
RAVANET S AANBRCERZE>TERTBHRELENS T &iF
HNFRALHEDNRE > T,

11 FUE#N

In IM], 29.3 we discussed the pattern ‘conjunctive form + 9, IZ< W, U E# W
operates in a similar way to {§ UIZ < ) but there are certain differences and they are
not simply interchangeable. ~IZ < 13, for example, cannot be used with {f§ U 5.

~IZ < ¥ means “difficult to...” where there can be degrees of difficulty; ~#\) is

much closer to a straightforward ‘impossible to..."

NHOBEZEEVWSHDIEFHVENHDOTIED D EEAN,
ZORIBHNR->TVEOTETHEDIZ N,

FHZEETICHZHD E VI DIRRICE S THL & » S HE LU HWEBIES,
ERBRENSEDICORIDOTIORIIFES IR b EBELIZL N
DT e ERS,

12 HiRkko

In IM], 39.1 we met the word L, read 3 X, following verbs and meaning ‘in
addition to’. Here L, read U X 9, is attached to nouns and means something like
‘on the level of’. You will find, however, that it does not translate well into English

and can often simply be omitted. The Americanism *...wise’ comes close.
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s LoBIcBRE RN,
B EOIRAFSEND I EEFEDET,
B EOAOETRICEHLAZR S ANRH D ETH,

13 #BTbOTHERRZN
You will be familiar by now with the way ® @ is used in certain set phrases. Here is

another pattern: perfective + & M TII72\), which means ‘it is not that...’

HOBOED LB EFULNZBDTIEHEZN,
TLIBOTTEETVNEEDIBAENS, TARGETEFYOH
DEIRDING N> T2 b D TR,
ANBICERNEHBED 7 S5 D ABRIELREETTN, TNTHZSEMIK
LEbDTHRWAEWNTT X,

Note the use of the perfective in this pattern. The word b @ here is being used in the
rather specialised sense of ¥ £ D H D or ‘something to the extent that’. This pattern
is quite different from the imperfective + M TIL72 VY, which means ‘it is not a
thing one should...’, or ‘it’s not sensible to...". Unlike the previous pattern, this can

be used in the negative or the positive.

Bicmh-> TEARI EZED DO TR,
HOESZ M HDOTT &,
N SEMDN THEFARICTHRZEHONTHBALLHDERTAL,

14 ~elERHB
Note here the bracketing of & % & & with perfective + Z & 433 5. This refers to a
one-time experience. See IM], 26.6.

15 MioGE S
This is a metaphor that refers to the abacus or soroban. Each vertical bar, or #7 (keta),
on the abacus marks the difference between units, tens, hundreds, etc. If the

‘vertical’ used is ‘different’, the result is therefore a ‘considerable difference’.
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16 ~EEWVWTIEALHT
~C form + {3 U T means ‘it was only when I ... thatL..."

HBOEHAZEEVWTIHIUD TEANKERRBHEEZ L TWEZ EIZEADN L,
HWEBEERL TR O TEORALEINGMho T,
HRRITRE> T LD TREOD DB =2HZHIZLATREU .

Exercises

1 Choose the right word in the brackets.

FLWZA-N—OFEEIC LT, LT REBERZRS TWaAREN,
SHBIOMEEIZ T3, BT2) LE-FERATETEATHD ZEIILE
L&de.

HOBHFIZ WMLT, BLT) BEETHOMEENHRENZOTHTHHT
ENHRET,

BHBROFBRIC LT, LT ODAXDOBUAFBERICE> TE > TWT—H#
TN,

HIIADLOEEIZ LT, BLT) BRETHHERE.
ANVABAEANKITTEEIC 8T5, BT 5) BEATLATODNTNWS,
ZZORERIREFOEFHEIC TS - HTB) BKICERITITNS,
ZOBEKIZ 395 - B9 2) BRORGEZHEL THELE,

ZOBHIZ 9B - B9 3) BRHIE TR EDMNDEITN,

HXBGRIC (95 B9 2) ROABE+SEREAEEA.

FEOEEIC T 5 -7 %) BEIN LD,

BUFIZ G935 - B9 2) HEROBEND Tk,

BIZ 895 - H93) ADKBIZETIENDE,

#EiZ 3495 - B9 3) RFFISTOIHRNTNS,
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BRI (95 - B9 3) ROKFFBIISHED> TVER A,
BEEIC (M5 -Hl72) A2DEZFITVWRAEDSTETNS,
ZTOZEIZ HLT-FALT0) W& FRAbADERA,

ARIZ 95 - B9 3) BETT L. 2hid.

FLEOHEMIZ (495 -B95) BROBARHETH»DRTHho /.

2 Make a sentence using the following phrases.

........ ERATIRILDT

........ ZRTECOHT

........ EELE->TIRIRLDT
AEToTHTIRLDT
ARRICELTIELDT

3 Complete the following sentences.

DERICHT=5H
SBIcHBELES
SEITHBIALESES

75 Xﬂﬁot
TI3ANTL ELES
75 yz«ﬁ<btot

ZHL=S
ZHIBELES
BT BAES=5

%

]

IR ESTEDS
IrIRE3ELES
aYINRESAE-EDS

2]
5

A
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4 Translate the following sentences.

SEOABREIRB x> LI TEHEVWELCDOATITA,
BhEHEVWOWENWHRESIABDET,

DB HLTENTO S LEW,

RETREDICITOATTN, ELSICHNENIFELETLE,

HOELEDOH. ERFEICWLTEEICIIW RN 220D DIFEM LENWERT,
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Word List

Lesson 14

R (TR
&FT5
bhbh

B~

£5%<
N
B
EHOT
BR

8
BiRRF o
&
—b#
B’ak
x>
*TE
B
H50D
Kig
BhzLs
&S5 TV + neg.
BNDL
BRI 5
BETh
fasi
HOEE
ESS
B3

genbaku (genshi bakudan)
toka suru
ware ware
yoku~
yoyaku
Hiroshima
hanno
kiwamete
chiishoku
meshi
senjichil
saiko
isshun
shokuyoku
ushinau
shikan
sokkoku
arayuru
Ohaba

okure o toru
totei
oitsuku
gekido suru
genshiryoku
heiki

aru teido
jissai
kathatsu

atomic bomb

drop

we

next

finally

place name
reaction

extremely

lunch

meal

during the war
most, best

moment

appetite

lose

officer
immediately

all

substantial, considerable
be behind, lag behind
negative intensifier
catch up

be enraged

atomic power
weapon

to some degree
actually

development
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ot a)
(i
Lg%
ERTD
B/s
WhHzs
ifi:]
~k

H1d® + neg.

KIVFTH
~§ﬁ(,3

B &

=
LOANS
BET3
il
FIZANS
EHT D
BFERR
Hidh&E >
T%H
Fi
K9 % XI2)
BHBIZN
85

BiE
Mot
—f&
figE
BLEH)
EERN

fumu
shogeki
hitteki suru
koan suru
uru, eru
ikanaru
bogyo

~hd

mohaya
tachiuchi
~gatai

hiraki

sa

toriireru
gekitsui suru
buhin

te ni ireru
shinpo suru
denshi kaisen
keta ga chigau
kogyoryoku
y0so
hansuru (X ni)
toho mo nai
satoru

aijo

zettai

isshu

shinwa
iatsuteki

ikigai
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step on, estimate
shock

match

design, devise

get, obtain
whatever kind of
defence

method of

no longer

measure swords with
difficult to, impossible to
difference, gap
difference, disparity
adopt, introduce
shoot down

parts

obtain

progress

electrical circuitry
differ widely from
industrial might
anticipation
contrary to X
preposterous
realize

affection, love
absolute

one kind

myth

domineering

purpose in life
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7 r—hk
B2

i yAds)
Hhisk
Pl
AR
Bz D <
Rig
FLH5
IR
IMD
HE
Hhifk
k=
FIZEBH LI
5
=3 1]
BOZED
Hik
B
il
'K
B
SR
RREW
Tk 58
DN D
AR
Wi
> T (XIT)
AZE R

ankéto

kaito

kanari

chiiki

kazan

kohei

mato o tsuku
kenkai
matomeru

ika

ukatsu

eisei

chitkei
dekigoto

te ni toru yo ni
akirameru
kisetsu
utsurikawari
mijika

erabu

handan

judai

tenkai

hatten

tennen shigen
hakai
tsunagaru
teikathatsukoku
toshi
shitagatte (X ni)
kotsta mahi

Lesson 14

questionnaire
answer, response
fairly

area

volcano

fair

to the point

view

summarize

as follows
careless

satellite

relay

occurrence, incident
vividly

give up

season

change

close, near by
choose
judgement
serious

see note 8

see note 8
natural resorces
destruction

lead to, link to
underdeveloped country
city

together with X

traffic jam
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TS
B%ED<
Bl
2 )
Phigkd 5
B
XH
=3

33
HhA1 2
h=Eay

i

BRRE
Hond
==
MET S
HhE
RERT D
_ALE
1242 3

H D= H
HicLAa3
A—=I8—
&
SHE
BT
HRT %
BUESR
—8
sk
ME

yosogai

iki o tsuku
gamen
mimamoru
chosen suru
buryoku
bunmei
kotei
hashira
magary
nikumu

rei
senryaku
amayakasu
kokuhaku
gokai suru
jishin
keiken suru
osoroshisa
kenko

arigatami

mi ni shimiru

sapa
setchi
keikaku

keishi-cho

shuppan suru

seijika
ichiritsu
binkan

fintai
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contrary to expectation
take breath
screen

watch
challenge
military power
civilization
height, pitch
pole, pillar
bend

hate

example
strategy

spoil
confession
misunderstand
earthquake
experience
horror, terror
health
blessings

feel deeply
super market
establishment
plan
Metropolitan Police Board
publish
politician
uniform
sensitive

human body
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2
BUR
B8
59TNs
b

eikyo
seisaku
shinrai
usureru

shinka

Lesson 14

influence
policy
trust
fade

evolution






